Question: -

The angles A, B and C of a AABC are in AP and
a:b=1:4/3.If c= 4 cm, then the area (in sq cm) of

this triangle is (2019 Main, 10 April I1)
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Solution: -

It is given that angles of a AABC are in AP.
So, A+ ZB+ ZC =180°
= LB-d+ 4B+ £ZB+ d =180°

[if ZA, ZB and ZC are in AP, then it taken as ZB - d,
4B, ZB + d respectively, where d is common difference
of AP]

= 3ZB=180° = /B=60° <ssl1)
and L [given]
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= sinA=%=>4A=30°
So, ZC =90°
.. From sine rule,
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= a=2cm, b=23 ecm
.'.AreaofAABC:%absinC=%x2x2\/§x1

=23 sq. cm







